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QUESTION 1

When deploy NBOOO system by ISM, which of the following characteristic of the management software are not used?
A. RAID, LUN, iSCSiI, target device, connecting LUN creation

B. resource pool, snapshot, LUN copy deployment

C. support for the management of the basic characteristics of Symantec\\'s SF, SFS

D. the storage network management

Correct Answer: D

QUESTION 2

Multi-path software failover and failback process apply transparent to the host, to avoid the path failure between the host
and array which led to the suspension of 10.

A. True
B. False

Correct Answer: A

QUESTION 3

The customer terminal system of ISM is responsible for the user interface display, processing the user\\'s request, the
discovery of equipment, data save and report process.

A. True
B. False

Correct Answer: A

QUESTION 4

Wide port definitions about SAS transmission medium, which the following statements are wrong?
A. wide port is composed of multiple phy

B. SAS address of each phy is made up the wide port is the same

C. port connected with wide port is not wide port

D. wide bandwidth is the sum of the each phy bandwidth

Correct Answer: C
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QUESTION 5

Virtual snapshots of OceanStor storage must have the support of resources LUN.
A. True

B. False

Correct Answer: A
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